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Hall Ticket Signature of
No. The Candidate
Time : 2 Hrs. Full Marks : 120

Note : Before answering the questions, read carefully the instructions given on the OMR sheet.

EEHOS% ermoo @it Bwotd OMR eoen BEsd” FIRGED BITION WG KIS0
SECTION—I : MATHEMATICS

1. The product of two numbers is 30. If their HCF is 5, then LCM is

Bocd Sopg® 00 30. =0 KTrar. S eod ...

(1) S (2 6
@) 4 4 8
2. The smallest odd composite number is
©d D3y 8 Sodku Sops
(1y 3 2 5
@ 7 (4 9
3. \E is
V2 5050 e
(1) a rational number (2) an irrational number
esse3o Hog 3t Sogs
(3) a prime number (4) a composite number
[Tais} éo%a§ RDociog 60335
4, If ]og3x2 =2, then x=
10g3x2 =2, ®oud X =
1 2 (@ -2
@ 3 (4 -3

SPACE FOR ROUGH WORK /03508 S50
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POLYCET OLD QUESTION PAPER

5. Set of even prime numbers is

20 (G Do BB

1) B84 @ 6,8
(3) 8, 10 4 &
6. If An B= B, then the correct statement is
AN B= Beows & 38 708" H0ER0
(1) AcB (2) BcA
(3 A=¢ (4 B=¢
7. Which of the following sets are finite?
B 308 TS DG HEMS HAB?
(1) Setof all natural numbers (2) Set of all prime numbers
e Sogyen el Ko KBS ) FE Sopsw B8
(3) Setof months in a year (4) None of these
2.5 Boxdied’ Boo D& e

8. The number of zeroes, a biquadratic polynomial can have at most is

B0 SOBTE BITOSOY SO AT o

9. The product of the zeroes of x + 2x% +1is

x+2x%+1 (ﬁoﬁbw’a‘g@ 980

1 -1 2 2
1
@ 1 @ 3
10. The zeroes of the polynomial x> - x? are
x5 — x? 35050 Glooy 050
(1) 0,0,1 2 0,1,1
@ 1,1,1 (4 0,0,0

SPACE FOR ROUGH WORK /0¢5:308 5;5533
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POLYCET OLD QUESTION PAPER

11. The quadratic polynomial whose zeroes are o, B is

o, B oo LU GV Chve R Mo oAl

(1) x®—(a+P)x+ap 2) X2 +(@+P)x
3) x%-—o—PBx+ap? (4)  None of these
08 ¢
12. The equation x— 4y =5 has
X— 4y = 5 &850 HOLESEI08E
(1) no solution (2)  unique solution
EvanTolad BE G5 B0tk
(3) two solutions (4) infinitely many solutions
2 FEI0 o 5088 S0 Bod)
13. Ifax+ b=0, then x=
ax+ b=0eoos x=
(1) -a @ a
(3) b (4) L
a a
14. Which of the following is not a linear equation?
Bod T8 B ShossEo 70O
(1) 3x-2y=y+x @2 x+y=1
3) 1+2x=y-5 4 3-y=x*+4

15. Which of the following represents the situation where Siri bought 5 apples and 6 oranges
and Laxmi bought 2 apples and 15 oranges for same amount of total money?

28 5 alrady, 6 oo $80w 0§ 2 AFad), 15 oo DEIGT &8 IR FI0. & XA Srdoi

$EBe0
(1) Sx+6y=2x+15y (2) Sx+15y=6x+2y
(3) b5Sx-6y=2x-15y (4 5x-15y=6x-2y

16. Which of the following is a quadratic equation?

Bod VS ¢ BossEI0
(1) x(x+4) =12 @) x(x+4) =x?+2x+1
(B x(x+4) -x(x-2)=0 4 x(x+4)=x(x+5)-x

SPACE FOR ROUGH WORK /09508 ﬁ;a“);iw

2021-81/81-A (3] [P.T.O.

122



POLYCET OLD QUESTION PAPER

17. Any equation of the form p(x) = O, where p(x) is a polynomial of degree 2 is called

DP(X) 938 385890 2 Ho 2058 eoxd, p(a) = 0 o sDhasseo

(1) linear equation in one variable (2) linear equation in two variables
&5 P o TPAD BSAosses0 Botk SooriHes Ko TP BAoESE0
(3) quadratic equation (4) None of these
55 Bosser0 26 s

2

18. The equation x* + x— 306 = O represents that the

X% + x =306 = 0 &3 5850 STDoHSE
(1) sum of two consecutive positive integers is 306
Botd 533055 O35 Soggo o 300«
(2) product of two consecutive positive integers is 306
Botko LR Gy Rogge 0go 300 e
(3) sum of squares of two consecutive positive integers is 306

Botd SR GROIY Kose oo 2ogo 306 &
(4)  product of squares of two consecutive positive integers is 306

Bot& HEXS G opse Hore 080 306 &l

19. The degree of the equation )62(362 +x+1)= V32 +3x-11s

AA +x+1)=xb + 63 - 5P + 3x - 1 Booty 50570
(3r 1 @ 2
3 3 4 4
20. If 18, x, 36 are in Arithmetic Progression, then x =
18, x, 36 wosEEE’ &5 F, x =
(1) 9 2 18
(3 27 4 26

21. If a, b, care in Arithmetic Progression, then a+ ¢ =

a b,c m@oé@?&éaéﬁﬁsa+ c=
(1) b 2 2b
(3) b-a 4 bta

SPACE FOR ROUGH WORK /0¢85:508 ﬁga“);iw
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22. The common difference of the Arithmetic Progression 781, 806, 831, ..... is
781; 806; 831, v ©05RE G0, oo
(1) 26 @2 24
(3 285 4 23

23. The product of two numbers is 91 and their arithmetic mean is 10, then the two numbers
are

Boe Ko ©%0 91 208ain 70 wosluggoo 10 e02S e Sopgew
(1) 10,10 2 12,8
By 18,7 4 14,6

24. The centroid divides each median in the ratio of

KXSEOE0 ROGGHERY rvvvrvrerrnee ABE” Deeidnod.
(1) 1:2 (@)
@ 3:1 4)

25. If the centroid of the triangle formed with (a, b), (b, ¢ and (¢, a) is O(0, O), then @+ + =
(@, b), (b, ¢) SoB0 (¢, @)os’ Doy Hsass Bowo O(0, 0) wox a® + b° + ¢ =
(1) abc (2)  2abc
(3) —3Babc (4 3abc
26. The vertices of a parallelogram are (2, =3), (6, 5), (2, 1), (-6, —7) in this order. The point of
intersection of the diagonals is
(2,-3), (6, 5), (-2, 1), (-6, —7) 3B $56058° B57085 ISSyes BT, T 8o PocES oD
(1) (©,-1) @ (0,0
3 1,0 4 @1

27. Distance between the points (O, a) and (0, —q) is
(0, a) S08as (0, —a) © Bugy S0
1) & @ 2d
3 4d 4 2a

28. Two poles of height 6 m and 11 m stand on a plain ground and the distance between their
feet is 12 m, then the distance between their tops is

It 303.3 R0y Botkd Hogre e S 6 2., 11 2. @S, %3 Feswe S Grvo 12 . wond
e ot [ogk oo
(1) 11 @ 12
(38) 13 4 14
SPACE FOR ROUGH WORK /09308 550

2021-81/81-A [5] [P.T.O.

124



29.

30.

31.

32.

33.

34.

POLYCET OLD QUESTION PAPER

AABC ~ APOR, if ZA = 50°, then £Q + ZR =

AABC ~ APQR 508050 LA = 50° @000 LQ + LR =

(1) 130° (2 40°

(3) 80° (4) 140°

The point which is equidistant from the vertices of a triangle is called

©e0es Bore Hood B350 (08’ Ko Doty

(1) incentre (2) orthocentre
@086 5% Soo oo Soo

(3) centroid (4) circumcentre
ododss Soo 5858 Soso

The number of tangents that can be drawn to a circle from a point lying on the circle is

28 o » o Hotod ood & TS Adbife Htre Sogs

(1 1 (20 ©
[ 2 (4 infinite
95080

The total surface area of a cuboid of length ‘’, breadth ‘b’ and height ‘A’ in square units is
&S P, S0y ‘D, 28 N eore Ko 5@6 2000 Qo) Ho PP ?_%’J@éo

(1)  Ibh (20  2h(+Db)

(3)  2(lb+bh+Ih) (4  2(+Db

With usual notation, if =7 cm and A= 10 cm in a cone, then its lateral height (approximately) [ =

Ferves 308ed r=7, h = 10 Todeor Ko $opod) Bk, Koo 2 | =, 20.20.
(1) 134 cm (2 103 em
(3 182 cm (4 122 cm

If the diameter of a sphere is d, then its volume is
2.8 B0 Gl argdo d 000D TP FOSHBRTe0
il

(1) gnds 2) gnds
1 3 1. .3
—nd —7nd
) 37 4 3
SPACE FOR ROUGH WORK /{’)@_%é?\)g @;E\’)é:p
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35. The sharpened edge of the pencil gives an idea about the

NS Booly BHED ED v o {008,

(1) circle (2) cone
o F0820:0)

(3) rectangle (4) None of these
&g wEso D& ¢

36. If tand + cotd = 2, then tan?6 + cot?6 =

tand + cotd = 2 @ows tano + cot?0 =

« =
(0 TN
NS
=N

1
37. If tan® = —, then the value of cos 6 is
3

1
tan® =E &0 cosh =

1 l ) ﬁ
L 3 @ 3
2
@ 4 3
38. If sin® = E, then tan® =
13
sin® = 12 ©od tand =
13
13 5
1) = @
13 12
© 15 @
39 sin18°
* cos72°
1
M 1 @ 5
3 O (4] =
SPACE FOR ROUGH WORK /S@J_Ebé'\)é ﬁ;()m
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40. If sin® =% and 0 is acute, then the value of sin20 is

sin® = % $0Ba0 6 ©iooE’er0 @0 $IN20 Aot Dewis

J3

1 1 2 —
(1) @ 3

1 V3
G 3 (4) Y

41. If sino = cosa, then the value of o is

SiNo = COSoL &000D o cfi:o§2JZ)®J;6
(1) 30° (2) 45°
(3) 60° (4 90°

42. The angle of elevation of the sun, when shadow of a pole of ‘R’ metre height is J3h metre
long is

P Botatsy Dy 110 5 €56 ooty Des s VBh Do, eoous Ertgd &30
(1) 60° (2 30°
(3) 45° (4 50°

43. The probability that a non leap year will have 53 Thursdays is

2.5 &) ol 0 Boll 8 53 Kotororen T HoeTS

B

(1)

N
N
—

(3)

N o
=

44. A bag contains 4 black balls and 6 red balls, if one ball is drawn at random, then the
probability of getting a red ball is

2.5 508" 4 Heod) DB 6 B oo K0, 2.8 208 o:ij"cﬁu)ﬁaéoﬁ" ST 98 K0 2008 eIHEE Ko

0g75% DOB?

1 2 2 B
n 3 @ 3
5 L L
@ 5 =
SPACE FOR ROUGH WORK /i)eé_oabi}i 3;?)5333
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POLYCET OLD QUESTION PAPER

45. El and E2 are mutually exclusive, then E1 N E2 =
B, E,o0 5850 508 fotades wod B, N E, =

(1) 1 2 5
3 ¢ (4) None of these
D8 =60

46. If three coins are tossed, then the total number of outcomes are
3 TR NOCIADT $5i0y BEI T Bogs
(1 2 @ 4
(3 6 4 8

47. The formula for median in a grouped data is (with usual notation)

5058 BogsiERd Brgo (et Soizred)

E_F E—F
(1) L+2 xcC @ L-2
f f
e ﬂ+F
(3) QTXL (4) L+2f % C

48. Mode of 1,2, 3, 8, 10, 11, 16 is
1,2,3,8, 10, 11, 16 © eriodso
(1) 11 @2
3 16 4

1
None of these

RN

28 =0

49. The arithmetic mean of a—3d, a-d, a+ dand a+ 3dis
a-3d, a-d, a+ do8an a+ 3d © St ©o8io¢i0o =
(1) a @ d
3 2a 4 2d

50. Which of the following is not a measure of central tendency?

8 800 RS’ TodaD [P Fod BoErs o) SWE

(1) Mean (2) Median
B 0G50

(3) Range (4) Mode
Tg2) PO

SPACE FOR ROUGH WORK /09508 ﬁ;a“);ﬁao
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SECTION—II : PHYSICS

51. The amount of heat required to raise the temperature of 1 gram of water by 1 °C is called

1 o De3 s 1°C Dol esvso ey &30

(1) joule (2) kelvin
6 EONS

(3) calorie (4) degree celsius
ke & 2Dy000

52. Two bodies A and Bare at temperatures —100 °C and 173 K respectively. The body at higher
temperature is

A 5080 B ¢ Botd 5:32:900 280 =100 °C &080io 173 K é@ﬁé@ DG €000 738 B8 eﬁgm
G &) D

1) A (2 B
(3) Both are at same temperature (4) None of these
Boesr 88 &S 5 ERHREY)

53. Which of the following pairs of substances have the same values of specific heat?

8o 736" &8 BP0 Dewideo AD oty Bergeo

(1)  Copper, aluminium (2) Ice, water
5336, warsodoio K000, Do

(3) Brass, iron (4) Ice, kerosene oil
3B, B S0, 858

54. When touched, we feel that a metal piece is colder than a wooden piece. This is due to the
transfer of heat from our fingers to

B0 PPV & DY), Bk, 503 o8 Sy Kook, Jorr ©B%e8. HI stmo B0 DS BY Sod &R

BP0
(1)  the metal piece only (2) the wooden piece only
) SoogH S axoriozood D) Soogo SPGB wtorHsood
(3)  both the metal and wooden pieces (4) None of these
Botid BaoBpET eslofodoody B3 Tot 058 e301ichd
SPACE FOR ROUGH WORK /05508 5;?()539
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55. A samosa appears to be cool outside but it is hot when we eat because the curry inside it has
ingredients of

SR By TR 0T Koid &0 AR ONIY & &otnod. 52680, & 5B B30

(1) lower specific heat (2)  higher specific heat

ey DL 5OA &oenod @8 DBLLD,) 5OA cotwod
(3)  zero specific heat (4) None of these

B0k BT, SO &ot0od ) T

56. Which of the following is not an example of refraction?

Bod 738 SEsordd emirses S%0

(1) Bottom of the swimming pool with water appears to be raised

eI DA &5 g0l exciorberio H8 Koo
(2)  Pencil placed in a tumbler of water appears to have a bent

3D B &) FBES” DNV eI &8 HoABERT E5eiér0

6 4 ) >
emon kept in a glass of water appears to be bigger than its size
3 L k i 1 f be bi han i i
(o) 520D 2 2300 DT BJ00W¢50
RedD) 5O &) TS’ Ko Vsl BBETEE’ DA Ko

(4) Appearance of our image in a plane mirror

B8 ¢5yE0E" 503 (&80 E5ekIo

57. The speed of light in benzene is 2x108 m/s. Its refractive index is (speed of light in vacuum
=3x10%8 m/s)

B0d56" w08 Ho 2x10° m/s. wond o 5SS weso (575508° o8 Ho = 3x10° m/s)
(1) 066 2 1 3 15 4 2

58. A light ray travels from air to glass with an angle of incidence of 45°. The possible angle of
refraction is

28 508 35830 O Koo rer B 45° e pEo ewsd. God 37636 Dodhy vdass Peo
(1) 45° 2) 65°
(3) 90° (4 30°

SPACE FOR ROUGH WORK /09508 ﬁ;{\“);iw
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59. According to laws of refraction, which of the following lie in the same plane?

SIS0 DoDETeD ©k0k00, @od T3’ 6.8 B0od’ &oosd

(1) Incident and refracted rays

58555 20050 S35 deTen STER
(2) Incident ray, refracted ray and normal

555 85630, SIS 8560 SoBAbL CIFSTeR DoToke Swod AN wowo
(3) Incident ray and normal only -

585 86690 0000 AIrET ek Soah Suo ABS vowo
(4) Refracted ray and normal only

5188555 26830 $0BAH0 ATET OB ST B0 AS eowo

60. A focal plane is
TR S00 @500

(1) parallel to the principal axis (2) perpendicular to the principal axis
Frrorgad Sdrogto B8 0o

(3) at45° to the principal axis (4) at60° to the principal axis
g8 45° Ser0 Ikgod Brog8 60° Sero Wiod

61. Which of the following lens is used as magnifying lens?

BB a3’ e S50 (G1r8¢0) B Sexso

(1) Double convex (2) Double concave
&5§>oeg°35<5 &5@@"3"6

(3) Plano-convex (4) Plano-concave
SRS Koogrses 0880 eSS

62. A convex lens gives an image of the same size of the object when the object is placed
S0V D @;éo G GO, 8.8 Ba0grsd BaEo iy HEEIE0E B0 $OXTEI0 E8Doer D067
(1) between the focal point and the centre of curvature
A ot HoBahs HEE Sowre Bt
(2)  between the focal point and the optic centre
TR0 Do $o0ain 8 Soo W
(3)  beyond the centre of curvature
S oo esde

(4) at the centre of curvature
S Soso B¢

SPACE FOR ROUGH WORK /0&9308 i{;c‘é;iw
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63. Pick the correct answer from the following two statements :

BB Bots TEgiinve S00d HOIS HHTFrvo JodE FFod :

{a) A lens has at least one curved surface.
2.5 56350 50 2 DESedy $OA Gotood

(b} A plano-concave lens has two curved surfaces.
2k So8e DersS 505708 Both SESCPo0 &0eTom

(1)  Only (a) is true (2)  Only (b)is true
(a) S Jeso (b) S0 Jeso

(3) Both {ajand (b} are true (4)  Both (a)and (b) are false
(@) 508050 (b) BotsT Jexd (@) 5080500 (b) BocsT E:53,8

64. The material suitable for making heating element of electric iron is

35 DS S BSOSO BRI DT

(1) copper (2)  nichrome
=06 3E

(3) silver (4) germanium
o0& G0

65. Match the following :
Bod T3 eHBHB0 :

Physical quantity SI Unit
TOE o3 SI B0
(i)  Electric current {a) Coulomb
Doy o Eresrod
(ii)  Electric charge (b} Volt
Desogd o 56
(iii) Electric potential {c) Ampere
Desogd TrEaS 300000
(1) ()= (c); (i)~ (), (i) - (b) @ (@)~ (q) ()~ (b), (i)~ (a)
(38) ()= (a), (i)~ (o), (i) - (b) @) @)= (b), (i)~ (a), (i)~ (c)

SPACE FOR ROUGH WORK /09308 3;:\’);313
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66. The materials which have resistivity in the order of 10" to 10'® @-m are
10" dr0d 10'° @-m S0t 235 D600 SRS Brred

(1)

(3)

insulators (2) conductors
200455720 TSRO0
semiconductors (4) None of these
Cleniasics D) T

67. The graph between potential difference (on X-axis) and current (on Y-axis) for a conductor
gives a straight line

28 THE0 G0l FERQANS B (X-esgon) SoBoibo Dkogd @0 (Y-egom)e Sk A (5 iy $5ely

RqaTiSasa0

(1)  parallel to X-axis (2)  parallel to Y-axis
X-e95708 S3rosdo V-e937008 oo

(3) passing through origin (4) intercepting both X-axis and Y-axis
Hore S Koo Z“Jv;i%):éo X 500000 Y wgrodo oo

68. 1 joule / 1 coulomb =
185/ 1 Herod =

(1)

(3)

1 volt (2)  1ohm
15 1 &0

1 watt (4 1 ampere
1 ey 1 e3000H8

69. Pick the false statement from the following :

Bod 38 Sy T :

(1) Resistivity is also called specific resistance.
RS DR VB o woerto
(2) Reciprocal of resistivity is called conductivity.
REGES G0y, DE o0 THESG0
(3)  Units of both resistivity and resistance are the same.
8358 SoBaho VB0 2.8 PETereo DA éoeron
(4) Low resistivity metals are good conductors.
woy AFEES 5OAS &fen ool oo
SPACE FOR ROUGH WORK /05308 @;E\’)é;u
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70. A current of 1'5 A passes through a conductor of resistance 20L. The potential difference

across it is

20Q G0 EOAS .5 THPEo Moot [Sarotio Asgd 1'5 A wond EQubs 8
(1) 1333V @ 30V

8 5V 4 20V

71. The materials which are useful in making of diodes, transistors and integrated chips (ICs)

etc. are
Caar e, @rypdeo, 3087636 D5y SO Do’ enarnsi EVAROLON
(1) conductors (2) insulators
TS0 20055700
(3) semiconductors (4) alloys
Clen iy DoEnd ssten

72. The defect of vision in which the people cannot see the objects beyond far point is called

Eoed K00cs 1OR Ao e Ko Siadedo JeEBE DFHCG050 Ho20800S Céo)%}ésgﬁ’qo

(1) presbyopia (2)  hypermetropia
wEGo égc‘é&)%}

(3) myopia (4)  the angle of vision
55y GaBeo

73. For a healthy eye, the accommodation of eye lens will be in the range of
S5OSO Boed ST, 5063 6 Htizeren Devisen KSTdorT
(1) 2to25cm

(2) 2:5to25cm
(8 lto2cm
(4 25to227 cm

74. A person cannot see the objects placed between near point and the point of least distance of
distinct vision. His defect of vision can be corrected by using

2.8 3553 55, &0 Do) SoBAhO By S 00 Sog S0 Spen KoM SrBErd, ¢ G,
DFBOUHRID Tk 55 S0

(1)  bi-concave lens (2)  bi-convex lens
& DTS & Boogrsd

(3) bi-focal lens (4) concavo-convex lens
& TErgoss DeTTE-K00ersE

SPACE FOR ROUGH WORK /09308 3;:\’);313
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75. Dioptre is the unit of

fevope STt gronbicts
(1) Refractive index (2) Focal length
$Eerss Moo R OBEISa
(3) Radius of curvature (4) power of the lens
SE 3"53"(2;533 588 @“miggo
76. For the children below the age of 10 years, the value of least distance of distinct vision is
about
10 Solle o BE SO0 1R YOO €060 Kyt SR IS0 Dewsd Bosrton
(1) 7-8 cm (2) 25 cm (3) 60 cm (4 2127 cm

77. Pick the false statement on the magnetic field lines.
SOOS TS DECPOL BowoRod Sy D

(1) They are imaginary lines (2) They are two dimensional
@D &S Cpen @ BDoBAL0

(3) They are closed loops (4) They never intersect with each other
@) JoNB SErew @2 5T ES 20805080

78. The SI units of magnetic flux and magnetic flux density respectively are
OO efarIo B8 WOHUYES B FPoBe Sl BEreros SEos

(1) coulomb and weber (2)  coulomb and tesla
oo, 2206 Ererrodl, G

(3) weber and tesla (4) weber and ampere
w0, G 2208, esomoHd

79. The development of electromagnetism lead to the invention of
3@5&0&)@“&0@@5@ oY, G:D@SSQ)@ %0 o508

(1)  electric bulb (2) electric geyser
088wy o 8 Asd

(3)  battery (4) dynamo
ergead G5

80. The magnetic flux passing through a unit area perpendicular to the field is called

@8 woworr (B5re D050 MOGE® (H5T0MN0 WOIES efio

(1) magnetic flux density (2) magnetic moment
OO BT oS LTS @S0

(3) magnetic pole strength (4) electromotive force
@Oi)ﬁ"boé Gy &0 3@59533@5 200300

SPACE FOR ROUGH WORK /0&9308 i{;c‘é;iw
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81. When freely suspended, the compass needle come to rest along the geographic

STy oD, BETYD Goo%, M8 g0 GG, Bod B Joad Do HB Sy

82.

83.

84.

85.

(1) north-east directions (2) east-west directions
&EE-E780) O BBy —5¢e08 HFe
(3) south—east directions (4) north-south directions

$58pa- om0y B5e0

E85-0588 B¥oo

If x and y are the temperatures of the hot and cold water samples respectively and z is the

final temperature of their mixture, then

X H0BCs Y @0 BT B B0 Fgd Vel Borce efrites wow, 2z e Do Hob &S wowd

(1) Yy>x>2z 2 x>y>z (3)

X>z>y (4)

y>z>x

If iand rare the angle of incidence and angle of refraction, then the equation for the Snell’s

law is

i 508000 7 o0 $E5Ees0 OA HEYS Seson SEHT 8028 IS Do ook BIEHd

(1) Sin i+ Sin r= Constant )

Sin i+ Sin r= ?80“0§;§oo

Sin 7 - Sin r= Constant

Sini-Sinr= ?go*’oé;ﬁw

o sin i
(3) Sin ix Sin r= Constant (4) ; = Constant
S ¥
o sin i
Sin i x Sin r = ToESW0 ; = QoOES
@ Sin r @

A lens is made up of

Ber57R) ST Sahoat T g onty

(1) a transparent material (2) an opaque material
TGS RV apensY Zvgeale) Ve Y

(3)  both transparent and opaque materials (4) None of these
SIS S0B0I0 RIS HErCred ot 28 ¢

The distance between the focal point and the optic centre gives the

TR Hood H08abo ¢5\8 Boion Kagis Ho ¢irSo BN Bdambilaiuo

(1) radius of curvature (2) focal length
BET g TETgOBEE00

(3) object distance (4) image height
PVSPEAVIONGY ©S8c0 IR
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86.

87.

88.

89.

POLYCET OLD QUESTION PAPER

The human eye functions on the principle of sensation of

ST SNSRIV Taiototd esrisseso SN)ear)

(1)

(3)

vision (2) hearing
e ey DG
taste (4 smell
5D DD

An amount of charge passing through any cross-section of the conductor in 1 second is
called

28 TR0 (oo, DB 0G0 HoG s EE’ (@ENIroi e B0Sre0

(1)

(3)

electric potential (2) electric current
Desogd FBJotHS DesogS o
electric resistance (4) electromotive force
o5 DT 0 DsogBTHOE LS

Which of the following materials obeys the Ohm’s law?
800 T3 .80 ALK edoo B

(1)

(3)

Light emitting diode (2) silicon

85 Doedoh BE (LED) RIS
QA_luminium (4) Germanium
©eTgodAbo BGyRabo

Pick the false statement on the metallic conductors.
FHH) T H0205oD Bod IS Eidy TEEL

(1)

They obey the Ohm’s law.
02 &0 AharRy edFro0o,

The ratio of voltage and current is constant.
T3 $'ge2 000tk Dsogtie Ik oo,

The voltage-current graph is non-linear.
T TG - DesogSo (i) SESP Foy.

Their resistance changes with temperature.
T3 B0 EPISE e B0,

90. The device used to measure the potential difference or electromotive force is
FBYHS S S DsogSTes woBts SodmdS T FEsEo

(1)  Ammeter (2) Voltmeter
wdyed Fotsb
(3) Calorimeter (4) Barometer
ESEeRSNS a0t
SPACE FOR ROUGH WORK /05508 @;5;539
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91.

92.

93.

94.

95.

96.

POLYCET OLD QUESTION PAPER

SECTION—III : CHEMISTRY

What happens when litmus paper test is performed with an acid?
&8 €5505003%0 Dl TASE 3830V Bod TS’ DO exorbo?

(1) Red litmus turns to blue (2)  Red litmus turns to yellow
2 Dy Dossoore S D05 Ve S0 STE00

(3)  Blue litmus turns to red (4)  Blue litmus turns to yellow
RO Hend o BT DO Bend BT BrSoRd

Which of the following properties is used in the olfactory indicator?
Bod 7RE’ D 0Ty 86 T KNS EBATATC?

(1) Colour change (2)  Odour
ol 53y TS

(3) Taste (4) None of these
) i T

When Na,CO, reacts with an acid, which of the following gases is evolved?
Na, CO, esxigsiond 35t as0b5:5¢k, G0 T8 9 Troind Seuscasood?

(1) H, (2 N, (3 O, (4 CO

An antacid is

Qoerns @558

(1) asalt (2) an acid
©IE0 505300

(3) abase (4) an acid or base
Ege) e300 B FEE

The nature of non-metal oxide is
o8 BE D Hes EDAT000H?

(1) acidic (2) basic
&0 6

(3) neutral (4) acidic or basic
L) el B 56

Principal quantum number (n) is represented with
575 700 Do (n) BIE BT
(1) @9.2,.2, 85w 2 KLM,... B) Y2, s 4 AB,C,...
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97. Which of the following properties was explained by Bohr’s atomic model?
&°6 B357en Aoyeso B God T3 B DSdoDoB?

(1) Line spectra of H atom (2) Fine spectra of H atom
TEed Sge 5560 TG e e B0

(3) Both line and fine spectra of H atom  (4) None of the above
oS T 0B ey S0 20 26 3

98. Maximum number of electrons held by p-orbital is

Pp-esDyerSS Koo IR JoTE sodSin?

[y 2 2 3 (3 6 (4) 10
99. The electronic configuration of an element is based on

D570 oo, DOFS DTG0 B ot L0 ?

(1)  Aufbau principle (2)  Hund’s rule
€35 DADEI[A 500&% DoHHoRk

(3) Pauli’s exclusion principle (4)  All of the above
20 575 Dassosoo 2180

100. Which of the following quantum numbers can’t have zero value?
€08 TRE D 5750830 Hogy Koy Deos EOAAHIOED?

(1)  Principal quantum number (2) Azimuthal quantum number
BT 5080 0% Fedan (g S s0eSo Hogs

(3) Magnetic quantum number (4) Both (1) and (2)
LADLIYOS T0L0 HOYs (1) S08aso (2)

101. In which of the following, elements are arranged in ascending order of their atomic numbers?

Bod TRE’ BIS" Be5rew Voo wTire (0508 MroTeiy $kiseo wBAot?

(1) Dobereiners law of triads (2) Newland’s law of octave
B0 B8 dxpodo Srgerol ess Do
(3) Modern periodic table (4) Mendeleev’s periodic table
8300 5D Be3s ocsDS eSS Be3s
102. Which of the following quantum numbers increases down the group in the modern periodic
table?
Bod TS D siotado Bogs, et eSS HeI8 ooy, (DS B0 340 TQ BEHIHSI0H?
(1)  Principal quantum number (2) Azimuthal quantum number
BT 75080 0w Fedath (N S0t Hogs
(3) Magnetic quantum number (4 Spin quantum number
@Oi)ﬁ"boé S‘“ogoé.)o%.) dogy ?\‘.D:S S‘L"Soé,.)oi) dogs
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103. Which of the following are called lanthanoids?

800 TRE 33D CroETBeE woertd?

(1)  s-block elements (2)  p-block elements
s-278 Sorosees p-TE Soresen

(3) d-block elements (4)  fblock elements
d-2T8 Soroseo Fferbsoroses

104. How many elements are present in 3rd period of the modern periodic table?
R S DS’ 31 BOADE Hotko A BoTesen EH?
(1) 32 2 8 (3 18 4 2
105. The valency of an element belonging to VA group of the modern periodic table is
EGRE BBES B3e3EED VA (1HER Sorosing s, 380 Jos?
(1) 5 (@2 3 @ 7 (4 1
106. lonic bond is formed due to which of the following?
eaiTRE 210650 @ DGOTT DO ?
(1)  Transfer of electrons from one atom to another atom
2.8 SE3TE0d) 500w S0B@0E HBEKread QE’E’;S m%&, 238010€) DD
(2) Electrostatic attraction between two oppositely charged ions
Bt L0 Seve 5065 9‘85 DegeELEs HOD
(3)  Sharing of electrons between two atoms
BoE DERXTLOD mcsg ")@LS;‘SQ So50E5e0 oS
(4) Both (1) and (2)

(1) 508050 (2)

107. Which of the following is a noble gas?

Bod TS’ astiarand NE?

(1) F, @ cl, @ 1, (4)  Ar
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108. When a metal atom forms ionic bond with a non-metal atom, the metal atom will

o 9850 wairds wogod’ FEV,

(1) gain electrons (2) lose electrons
DoFF Totosod Dot EE B0

(3) share electrons (4) neither lose nor gain electrons
DoFH0 Botiosotnod dogsso §&ym Sor drocs

109. If the valency of sodium is 1 and oxygen is 2, then the formula of compound formed between
sodium and oxygen is

Féatho @Y, Jody 1 Sodako esdyess B S0y 2 oo D E0Do BBk esdyd Sy NED Sy ¥ko

T Doe3?
(1) NaO (2) Na,O, (3) Na,O (4 NaO,
110. Triple bond between nitrogen atoms in N2 molecule contains
3T eS8 Brogsod’ ey oo
(1) 1 sigma bond and 2 7 bonds (2) 2 sigma bonds and 1 '© bond
1 2y 2065500, 2 T 2050 2 ey 206580000, 1w 2065500
(3) 3 sigma bonds (49 3w bonds
3 1y 200650000 3T 220000

111. In nature, gold metal is available in free state(native), because

588" worrs Eiro g RBE ot e

(1) it is less reactive (2) it is more reactive
B0y SorgBos WQE BogBod

(3) it is independent of reactivity (4) None of these
ForgBOB Does e 28 %
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112. The impurities such as soil and sand associated with ore are called

28 B0 08 06 50800 3 $0e3 Sodrreits Dod oerso?

(1) slag @) flux
Sisono G558

(3) mineral (4) gangue
2220 P2 TOVg0

113. The spot at which corrosion occurs on the surface of an iron material, behaves as

0D iDe &5BBecD &l DB (roses’ §abo wOAS, & Froso Jow [ENEKeH?

(1) cathode (2) anode
FEET (350508 S ET (H50:008

(3) either cathode or anode (4) It has no relation with electrode
THE Sor aTET (55022008 Q@ngc%@s 0200050 &0

114. Which of the following minerals contains manganese?

Bod TS H Srplesioo Srordn SOA dotwod?

(1) Galena (2) Cinnabar
RO Rnerd

(3) Pyrolusite (4) Horn silver
:.358&3‘;:@6 Kfsé 508355

115. Which of the following methods is used to prevent corrosion?
800 TRE D 535000 Foioo DrBoiotsH ENErARE?
(1) Painting (2)  Electroplating
DansoeS Babeso SFONTOS Ky G0t
(3)  Sacrificial electrode of another metal (4) All of these

Q8 Jo7B0% 5OAD S Ky &oitro 2
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116. The ability of an element to form the longest chain with its own atoms is called as

2 Boresin ool ook, SERTENDe G0 80608 ot DS SiyPoroty HBT FEokess DD

DO ?
(1) allotropy (2)  hybridization
ErroSTren SosbssEN0
(3) catenation (4) isomerism
0PO TR0 EEN DN EKO
w SEN

117. Hydrocarbons that contain only single bonds between the carbon atoms are called

TETEHE S0 B¢ 0G0 BB &0l Tl Docerdo?

(1) alkanes (2) alkenes
&95&5& &38)&:5(3

(3) alkynes (4) All of these
<O I

118. For hydrocarbons, if the molecular formula increases, then melting point

TS5 ook wERrane EHEH §8 GRS o DHBod?

(1) increases (2) decreases
08 Sl eivela)

(3) either increases or decreases (4) No relation
Dorgood S SEod D 5020650 &0eK30

119. In hydrocarbons, which type of bonds does carbon form?

TESGS Siirod’, e K063 worres SDAcIoen0s ?
(1) Four single bonds (2) Two double bonds

TN DB Totss Bgogreo
(3) One single bond and one triple bond (4) All of these

2.5 DE200¢5:500 508050 2.8 (Beodssng R

120. The hydrocarbons containing —CONH, functional group are called
—-CONH,, Saoad B0 EOACHOD) E_F@S’“(z]?giﬁ) D €009

(1) carboxylic acids (2) amides
o398 esiren w308

(3) amines (4) esters
303 800
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